EAGRAROBREERT — 2 N— ABISH —F 201956R1H (£) 3EER1H

BNt - w3 2B o 5% ¥5R3&E (BE) Uedl N7 EIEE Y
[A&£] 1 7 15,000,000 § 2 7% :6,000,000 § 3 3 :3,800,000 . 4 3% :2,300,000 ™ . 5 3 :1,500,000 M
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
4 3 | AIBREA 1:20.3 9-9 32.9(101.5| 2 402 | HRRER (ZEiH)
1 2| L/ =T 51.0 (=) (o) |MEMEtE
R:Z27)—>kb—A— B:LyRg—%— iE  ERL
. £ 5 | HHEEE 1:20.3 4-4 33.3[101.3| 5 444 | EFIE— (EH)
2|5/ 8| NAT TR~ - 54.0 (7€) © (B) #HBL—ZFK—Z
R:F4—TALNT N BRZbOF—Ya> HET7— L
s BN : — REEE= (EH)
31710 RXHT—F 2 b (B] it 4 i 1(.32/%4 2-2 33.7| 99.7 | 6 (4;6) e
RIVINATA—h— BET7AY—RZRZH iEltae]
53T # 3 | BRERS 1:20.6 1-11 33.0| 98.1 | 4 442 | BOED (RR)
41111 7 51.0 1 1/4) (-2) EIGEES
R:VvRa2y14 B:HRN)T P X e ]
. o4 | RIEE 1:20.7 1-1 34.1] 954 | 8 506 | FEREX (i)
Pl Lxam—v 5.0 3/4) Lo | EEEL
WiNZ—ka21—-X B:)FLA—0O =Y Tr7—LA
e . C. JLXA—J .90. - . . hEEF (ER)
6 AESZPL #H 5 o 1(720t§3 6-6 33.6| 95.5 | 1 (436) il
XD THANAN B:q4>F Uy R BNT7—L
= S B4 | BEXRLT 1:20.9 4-4 33.8| 9.4 | N 458 | DNAE (%)
7(5/9|7 1 7ALY b 62.0 (172) oy | ) me
R:F4—TTUF>F B:IMEUH BINET 7 — I
= 5 4 4 | REES 1:20.9 13-11 33.3| 94.6 | 12 440 | REB (EH)
8 |8l15| ®AS—7=F7 54.0 (") o |W0m—g
R:HIIFULS BHsIaALFIL B2y k
4 4 | BEEIER 1:21.0 6-6 33.8|93.3 | 7 442 | BETRE (ER)
9 3|77Ax 52.0 (1/2) ) |Zyyrv-sry
RBATATv— B:T7zF7U—=—7)1LY BHTF— L
i N # 4 | M. FL-0O 1:21.0 14-14 [33.2] 93.5 | 9 432 | EfER (E#)
9 7|BYZXA-Ly b 54.0 (A7) (c) | AREES
RFATAT v — BAVAYIZT7— LA 794577 —1
= o s 4 | FlEEX 1:21.1 9-9 33.7] 92| 3 446 | FIHIE—EB (X#)
110 g | ZANTUTRZF 53.0 (3/4) () | BREHILY
R:FATATv— BYNITUTRLF =Ty —1
P ¢ 4 5 | FR— 1:21.1 3-2 34.3|91.0 | 10 504 | FRBERE (EH)
120l 13| ¥/ =N INT = 6.0 SZE)) w2y | W0 5502
g/ v BiFg/ RV =Eizie]
N o LR sE 121, — . . EEFIRL (EiH)
13 ARSI R A o8 B (11 211/43) 15-15 | 33.2| 90.1 | 14 (5+364) P
LT RYA X T 0Ny B:5T3I5— HE B—
= 4 4 | IBEFER 1:21.4 6-6 34.2| 88.4 | 15 42 | FREX (FH)
1418114 B — KZ1 b [B] 51.0 (3/4) (+16) | HRE—EE
R:G1 7 NT—IEY BNINSZFT FUI> NS
e # 5 | AUTR 1:22.5 1-11 34.9| 76.4 | 13 | 482 |1EEESRE (E#)
EHH Nt [B] 54.0 @) (-8) e BEME
R:AFa4y b BiAM—LAA=T LA Eae]
@ 21 L
E»Y) 45.4-33.7
NA>Z4 L | 12.5-10.9-11.5-11.7-11.3-10.9-11.5
® I—F—@EBIERL
13—=7—
2al=5"=
Jol=7r= 10,12,13-(8,9) (3,5,14) (2,6) (1,11)15,7,4
40—+ — 10(12,13) (8,9) (3,5,14) (2,6) (1,15,11)7,4
[ N5
B 2 530M 714K 2-8 850 e E 2-5 1,270M EE 2-8-12 14,780H
# B 2 190M4 2-12 1,600M B = 2-8 1,840 3EE 2-8-12 72,580/
8 250M 8-12 3,030MH B H 2-8 3,420M
12 410M

ABRICOVTHRTEEERROODE, THEB LS,



